
43 · 42 = _________ 25 · 24 = _________ 52 · 55 = _________

93 · 91 = _________ 114 · 117 = _________ 37 · 35 = _________

78 · 76 = _________ 610 · 610 = _________ 137 · 1315 = _________

123 · 122 · 125 = _________ 104 · 103 · 106 = _________ 38 · 31 · 34 = _________

112 · 119 · 117 = _________ 81 · 87 · 87 = _________ 911 · 97 · 96 = _________

PRODUCT OF POWERS
Name _______________________________________________________    Date _______________________

You can multiply powers using the Product of Powers Property. It states 
that when you are multiplying powers with the same base, you can keep 
the base and add the exponents. 

Let’s try it! Simplify 32 · 34 using the Product of Powers Property.

Try it yourself! Multiply. Express each product as a power.

xn · xm = xn + m

You can see why this property works by expanding each power and simplifying.

32 · 34 = 32 + 4 = 36

32 · 34 = (3 · 3) · (3 · 3 · 3 · 3) = 3 · 3 · 3 · 3 · 3 · 3  = 36
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